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3a propmit mje uzakse Takokae cupasmbpHOCTH
62000 : 32000=2170 : z'.
Orryks umamet 2 =—1050 rpomsa
T =—=1120 %

3apaska. Tpouya wmps06yw CA CAYMaIw A0 wWpsy-
samb 3aeH0 3 WAUNBL: 0wy WHTH WPLELUL 65 HAUAA0 6.0-
wuas 12000 epows, w cabas 16 mbeayvt upumypuss eue
3200 epows; ewmopwui owmkpaw eaoxuas 18000 op., s
calan 8 mbcaypl, 63eas cu HA3AAY 0Ws WRWR CYmmi 8500
ows ; mpewiii 6a0xkuAs 9000 2pows, Kou-wo ocmasuas
Aa patowaurs upl3s ecunksl-wrol wpw w0iunst. By kpat ows
wmosa epbma win woAywuaw 00wy weuaar 10240 epows.
Mo Koako cq naja 6CAKOMY 0Ws WKWK WEUAAR?

Tounexe 3 ropunst —36 mbeAns, TO cA BHAH, Y€ CyM-
ma-ra 12000 #a apbvevtit ca e o6pbijara 36 mbeansr, a maks
npupasena-ta vy cymma 3200 rpoura e paornaa 36—16=20
wheans. Cymma-ta 18000 #a emopwii whaa ca e oGpamgaaa
8 mbeagsr, a Bb ocraan-ter 38—8=—=28 mbcans e padoraaa
camo cymma 18000—8500=9500 rpomma. A mak®s cymma-
ta na wpemir 9000 rpoma ca o6prmaaa TeEMO 36 Mbcanm.

Heka &, o', ', pAa CX 4ACTHBI-THI IIE€YAABI HA NPHBBIH,
BTOPBIil H TpPeTiii TPHroBOBI; AR THl HPHBEAEMb Bb €AHHD Mb-
CAOBL, TAKa, KAKTO CHA nNOKa3a Bb l’lp'hAl’lAX\].qX\-T& 3a2aBKM

1) 12000 X 36--3200X20=496000 rpoms.
2) 18000 89500 28=410000 ,,
900005636 e =5240007

1230000 rpoms.

Ha i cymms 1230000 rpomia 6rixs mambpuan Tin
06mx meuwsax 10240 sn 1 mbeann. Txmk meuaax pa paspb-
AHMB cera cbpasmbpro ma uncaa: 496000, 410000, 324000,
1o cbpasMbpHOCTH

1230000 : 496000=10240 : @
1230000 : 410000=10240 : 2*
1230000 : 324000=10240 : 2

orrpk-1o:
z =4129°"/,,
@ __3413“/‘ i

a'=2697%/

06ma-Ta nevara —10240 rpoma.




